
w
w

w.raider.bg

E
X

P
LO

D
E

D
 V

IE
W

 O
F G

R
A

S
S

 TR
IM

M
E

R
 R

D
-G

S
S

L01

1
2
3
4
5
6
7
8
9

10
11
12
13

DC JACK
BATTERY
PCB
Left housing
Switch

Spring

Motor
Motor gear
Screw
Gear box

DC005 1

1
1
1
1
2

1
1
1
2
1
1

1

14
115

Intermediate gear 1

deckboard
LED display plate

16

Button 1

17
18
19
20
21
22
23
24
25
26
27
28
29
30
31

1
The blade ring
Output gear

1
The blade fixed pin 2
Washer 2

The blade positioning ring 2
blade 1
blade 1
baseboard 1
Spring 1
Button 1
Screw 1
Flat washer 1
Right housing 1

1
5

ABS

ABS
65Mn
ABS
65Mn
ABS

M2.5*5
ABS
POM
POM
PA66

40Cr
65Mn
65Mn
ABS
65Mn

M2.5*8

ABS
M2.5*12
M3*12

shift knob

Spring

Screw
Screw

32 1ABSButton


